N

REPORT

Contact person Date Reference Page

Pooya Tabib 2024-07-16  0100480-DP08-1275945 1(2)

Division Materials and Production
+46 10 516 58 28

pooya.tabib@ri.se Tarmetec OU
Ringtee 6
EE-501 05 TARTU
Estland

Review of bull bar according to TSFS 2016:22
(3 appendices)

Summary

Review of bull bar and lamp holders according to the requirements in Swedish Transport
Agency’s regulation TSFS 2016:22 Appendix 1, Section 49 — Projection of parts on external
surface of vehicle together with supplements of TSFS 2017:10, TSFS 2017:61, TSFS 2017:78,
TSFS 2018:41, TSFS 2018:44 and with reference to directive 92/114/EEC and ECE
Regulation No. 61. Consideration has also been taken with aspects of EC Regulation
No0.661/2009.

Note that his assessment is an update of the previously issued assessment named
“8P08634_Tarmetec_Bullbar_Scania_Rev.2” where two powder-coated products have been
added.

1. Assignment

Review of bull bar to motor vehicle class N2 and N3 (motor vehicle for goods over 3.5 tonnes)
according to TSFS 2016:22 Appendix 1, Section 49 — Projection of parts on external surface of
vehicle.

Client: Tarmetec Ltd in Tartu, Estonia.

2. Product

The product is intended for mounting on Scania S/R/G/P 2016- motor vehicle with weight over
3.5 tonnes. The product’s drawings are provided in appendices 1 and 2.

Material: tubes made of AlISI 304 stainless steel, @ 60 mm and & 76 mm
Manufacturer: Tarmetec Ltd, Tartu, Estonia

Art. . Mountl_ng Vehicle
instructions
2761788
3240793 der-coated
(powder-coated) 8644908  |Scania S/R/G/P 2016-
2761789
3240794 (powder-coated)

RISE Research Institutes of Sweden AB

Postal address Office location Phone/ Fax / E-mail This document may not be reproduced other than in full,
Box 857 Brinellgatan 4 +46 10-516 50 00 except with the prior written approval of RISE Research
50115 BORAS 504 62 Boras +46 33-13 5502 Institutes of Sweden AB.

SWEDEN SWEDEN info@ri.se

Transaction 09222115557522606444

Signed PTZA, JH



Date Reference Page
I REPORT 2024-07-16  0100480-DP08-1275945 2 (2)
|

R
S
3. Method

Review of the geometry and radius of the products according to TSFS 2016:22 section 49;
which refers to directive 92/114/EEC and ECE Regulation 61, see below.

Consideration has also been taken with aspects of EC Regulation N0.661/2009, Chapter II,
article 4 paragraph 3 and article 5, paragraphs 1 and 2f.

Method Valid for product

2761788
Directive 92/114/EC, section 3 — General requirements | 3240793
ECE Regulation 61, section 5 — General specifications 2761789

3240794
Directive 92/114/EC, section 4.5 — Protective devices 2761788
(bumpers) 3240793
ECE Regulation 61, section 6.5 — Protective devices 2761789
(bumpers) 3240794

4. Assessment

According to our review the above mentioned types of lamp holder for mounting on motor
vehicles with weight over 3.5 tonnes do not deviate from the requirements in TSFS 2016:22
Appendix 1, Section 49 — Projection of parts on external surface of cab.

This assessment shall be attached to the client’s confirmation that will follow each delivery of
the product.

RISE Research Institutes of Sweden AB
Chemistry and Applied Mechanics - Mechanical Reliability

Performed by Examined by
Pooya Tabib Jukka Holappa
Appendices

Appendix 1 — Drawing 2761788 and 3240793, dated 28-05-2024
Appendix 2 — Drawing 2761789 and 3240794, dated 28-05-2024
Appendix 3 — Mounting instruction 8644908, dated 28-05-2024

RISE Research Institutes of Sweden AB-
Transaction 09222115557522606444 @& }

Signed PTZA, JH




1(1)

Page

0100480-DP08-1275945
Appendix 1

Reference
16

2024-07

Date

REPORT

v

¥20T°S0'8T ‘'n1e

Gy sI sued a|qissadoe Jo liped “UlA

$0€ ISIV 40 S8qn} WW | ‘9/@ ‘Wwg'09@:|euslew uep
88/19/2 40 18 pajeodispmod se (LL06++98) £6.042€
pue (06+198) 88/19/Z J0 suoisuswig

(s81)

-910Z 9/Y/S elueds
.10} pileA

EETTen

L xipuadde-4z0zS08TIY LN

T
-
<
N
[
[a N
o
[0}
C
=
(%]

RISE Research Institutes of Sweden A 7

Transaction 09222115557522606444




1(1)

Page

Reference
16  0100480-DP08-1275945
Appendix 2

2024-07

Date

REPORT

v

¥20T°S0'8T ‘'nHe]

Gy sI sued a|qissadoe Jo liped “Uly

#0€ ISIV 40 S8qn} Ww | ‘9/@ ‘WWE 092 [Bl8)ew Ulep
68/19/Z J0 1o pajeoasspmod se (L/L6+F98) ¥6.0+2E
pue (L6¥¥98) 682192 40 suoisuawig

(oz1)

-910Z 9/d/S elueds
:10} piieA

¢ xipuadde-470zS08TIHLIN

T
-
<
N
[
[a N
o
[0}
C
=
(%]

Transaction 09222115557522606444

RISE Research Institutes of Sweden A




RI.
S

Date Reference Page
REPORT 2024-07-16 0100480-DP08-1275945 1(8)
Appendix 3
ACCESSORIZED BY app.3 of MTRI28052024
METEL
Paigaldusjuhend | Mounting instructions | UHCTpykuus no ycr: | Mor leit 8644908

Scania S, R, G, P cabs, 2016-

Art. 2761788 (864490), 2761789 (864491), 3240793 (86449071), 3240794 (86449171)
Rammraud FIN WING | Truck cattleguard FIN WING | MNepegHsist ayra FIN WING | LKW Bullfanger FIN WING

. Rammraud / cattle guard / nepegxss agyra / Bullfanger
. Kronstein / bracket / kpoHwTeitH / Konsole
. Kronstein / bracket / kpoHwteiiH / Konsole
. Kronstein / bracket / kpoHwwTeitH / Konsole
. Kronstein / bracket / kpoHwwTeitH / Konsole
. Kronstein / bracket / kpoHwwTeitH / Konsole
. Kronstein / bracket / kpoHwTeiiH / Konsole
. Kronstein / bracket / kpoHwteitH / Konsole
Kronstein / bracket / kpoHwTeitH / Konsole
. Kronstein / bracket / kpoHwTeiiH / Konsole
. Kronstein / bracket / kpoHwtenH / Konsole
. Laterna kinnituskronstein / lamp fixing bracket /
KpenexXHbIN KPOHLUTEWH Nnamnbl /
Lampenbefestigungsklammer
13. Laterna kinnituskronstein / lamp fixing bracket /
KpenexHbii KpoHLWTEeNH Nnamnbl /
Lampenbefestigungsklammer
14. Puks / bushing / 6ykca / Buchse

1
2
3
4
5
6
7
8

A,
N = oo

16. Polt / bolt / 6onT / Bolzen M20x170
17. Polt / bolt / 6onT / Bolzen M12x170
18. Polt / bolt / 6onT / Bolzen M20x40
19. Polt / bolt / 6onT / Bolzen M10x70

Kaal / Weight / Macca / Gewicht: 88,1 kg

Paigaldusaeg / Time of mounting / Bpemsi yctaHosku / Einbauzeit: 180 min

\ @ "I O N 210
T40 17 }gu i

All Rights Reserved by Tarmetec | www.metec.ee

RISE Research Institutes of Sweden AB

Transaction 09222115557522606444

20.
21.
22;
23.
24.
25.

26.
27:
28.
29.
30.
31.
32.
33.
1 34,

35.

36.

37.

38.

PO ST QU e SR N QU G R

39*
40*
41+
4 42
43*
44.

N

*-

NN NN

245

Signed PTZA, JH

g

Polt / bolt / 6onT / Bolzen M10x30 DIN 933 10
Polt / bolt / 6onT / Bolzen M10x30 DIN 7991 6
Polt / bolt / 6onT / Bolzen M8x20 DIN7380 8
Polt / bolt / 6onT / Bolzen M8x25 DIN 7991 2
Polt / bolt / 6onT / Bolzen M8x25 DIN 933 2
Liblikpolt / butterfly bolt / 6a6o4ka 6ont / Schmetterling
Bolzen 2
Mutter / nut / raitka / Mutter M10 20
Puks / bushing / 6ykca / Buchse 2
Seib / washer / waiba / Scheibe 20x37x3 2
Seib / washer / wanba / Scheibe 13x24x2,5 2
Seib / washer / wai6a / Scheibe 10,5x30x2,5 20
Seib / washer / wawn6a / Scheibe 10,5x20x2 12
Seib / washer / waiiba / Scheibe 8,4x16x1,6 2
Seib / washer / wanba / Scheibe 6,4x18x1,6 2
Vedruseib / spring washer / npyxuHHas wanba /
Federnscheibe A20 2
Vedruseib / spring washer / npyxuvuHHas waiba /
Federnscheibe A12 2
Vedruseib / spring washer / npyxuHHas wanba /
Federnscheibe A10 2
Vedruseib / spring washer / npyxuHHas waiba /
Federnscheibe A8 10
Vedruseib / spring washer / npyxuHHas wainba /
Federnscheibe A5 2
. Polt / bolt / 6onT / Bolzen M20x220 2
. Kronstein / bracket / kpoHwtenH / Konsole 1
. Kronstein / bracket / kpoHwTeiH / Konsole 1
. Kronstein / bracket / kpoHwtenH / Konsole 1
. Kronstein / bracket / kpoHwTeitH / Konsole 1
Kummiseib / rubber washer / peauHoBasi waiiba /
Gummisscheibe 6

for protruding bumper

M6 - 11 Nm
M8 - 25 Nm %L\
M10-50 Nm

M12 - 90 Nm
M20 - 245 NM

B

—

28.05.2024 178




Date Reference Page
REPORT 2024-07-16 0100480-DP08-1275945 2(8)

S Appendix 3

Scania S, R, G, P cabs, 2016-
Rammraud FIN WING | Truck cattleguard FIN WING | MepegHss gyra FIN WING | LKW Bullfanger FIN WING

—~
(1

"rrotruding )
umper )

=

Low bumper | Medium bumper | High bumper ’ Low bumper | Medium bumperl High bumper

All Rights Reserved by Tarmetec | www.metec.ee 28.05.2024 2/8

RISE Research Institutes of Sweden AB
Transaction 09222115557522606444  §

Signed PTZA, JH




Date Reference Page
REPORT 2024-07-16 0100480-DP08-1275945 3(8)

S Appendix 3

Scania S, R, G, P cabs, 2016-
Rammraud FIN WING | Truck cattleguard FIN WING | MepegHss gyra FIN WING | LKW Bullfanger FIN WING

|~

All Rights Reserved by Tarmetec | www.metec.ee 28.05.2024 3/8

RISE Research Institutes of Sweden AB
Transaction 09222115557522606444

Signed PTZA, JH




Date Reference Page
REPORT 2024-07-16 0100480-DP08-1275945 4 (8)

S Appendix 3

Scania S, R, G, P cabs, 2016-
Rammraud FIN WING | Truck cattleguard FIN WING | MepegHss gyra FIN WING | LKW Bullfanger FIN WING

All Rights Reserved by Tarmetec | www.metec.ee 28.05.2024 4/8

RISE Research Institutes of Sweden AB-,

Signed PTZA, JH

Transaction 09222115557522606444 ‘E‘UE




Date Reference Page
I REPORT 2024-07-16  0100480-DP08-1275945 5 (8)

N

Appendix 3

Scania S, R, G, P cabs, 2016-
Rammraud FIN WING | Truck cattleguard FIN WING | MNepegHss ayra FIN WING | LKW Bullfanger FIN WING

Fix tightly!
Use adjustment washers!

All Rights Reserved by Tarmetec | www.metec.ee 28.05.2024 5/8

RISE Research Institutes of Sweden A
Transaction 09222115557522606444  §

Signed PTZA, JH




Date Reference Page
I REPORT 2024-07-16  0100480-DP08-1275945 6 (8)

S Appendix 3

Scania S, R, G, P cabs, 2016-
Rammraud FIN WING | Truck cattleguard FIN WING | MNMepegHsas ayra FIN WING | LKW Bullfanger FIN WING

for 60mm tube

44907(~05.2024)

' 2o \ ; PN
== i!! A 3
et i oF T I
3 \

Pukseeriminegmws & &6
Towing
BykcupoBka
Abschleppen

et |

iIL..©, Medium Bumpler

All Rights Reserved by Tarmetec | www.metec.ee 28.05.2024 6/8

RISE Research Institutes of Sweden AB-,

Transaction 09222115557522606444 &&=  Signed PTZA, JH




N

=

Date Reference Page
REPORT 2024-07-16 0100480-DP08-1275945 7(8)

Appendix 3

Scania S, R, G, P cabs, 2016-
Rammraud FIN WING | Truck cattleguard FIN WING | MNepeaHsia ayra FIN WING | LKW Bullfanger FIN WING

864490, 86449071 (RAL)

l 10 000 km .

O

N/

* Kui METEC toode ei vasta Teie ootustele v&i kui on tegemist toote ebapiisava kvaliteediga, siis pretensioonid esitada lehel www.metec.ee

o If the METEC product does not meet Your expectations or if it is a product of insufficient quality, then you can submit a claim at www.metec.ee

® Ecnu METEC npoaykT He cooTeeTcTeyeT Balumm oxnaaHnsam unn aTo NpoayKkT HeAoCTaToYHOro KavecTsa, TO NPETeH3N0 NPeaAbABMTL MOXHO Ha calite www.metec.ee
* Wenn METEC Produkt nicht Ihren Erwartungen entspricht oder wenn es um Qualitatsmangel geht, dann bitte die Anspriiche auf Seite www.metec.ee einreichen

All Rights Reserved by Tarmetec | www.metec.ee 28.05.2024 7/8

RISE Research Institutes of Sweden AB

Transaction 09222115557522606444 Signed PTZA, JH




O]
=z
& S
g( N
£ 0o i
|
0]
()]
=3
]
0 @
> =
Te} <
N ® =
1__ X 1)
© 2 z
2 g 2
o
@) Q m
1
S < -
= =
wM =
Es) 3
&< g
O g
Q.
0]
C
6 —
A [©]
~ =z
M =
z
o N o
£ O
o N .m
o
=}
(@]
Q
®
i (6]
© 3
o 2
=
o
wG
8=z
o
g Z
Dny_._l
= -3
[a'4 sm
) SE
o g §
4
o »
|
|

Cv)

Lisa /extra / npunoxeHue / Extra

-606v798

@

¢-606¥198 @

6
& mFO\

; @% <0

-

06¥¥98 404 Ajuo - ,,

Jadwnq
|ewuou 10}

Jadwnq
Buipnajoud Joy

8/8

28.05.2024

All Rights Reserved by Tarmetec | www.metec.ee

Signed PTZA, JH

Transaction 09222115557522606444 =g

RISE Research Institutes of Sweden AB-,




\Verification

Transaction 09222115557522606444

Document

0100480-DP08-1275945_Tarmetec

Main document

13 pages

Initiated on 2024-07-17 10:10:14 CEST (+0200) by Pooya
Tabib Zadeh Adibi (PTZA)

Finalised on 2024-07-17 11:39:51 CEST (+0200)

Signatories

Pooya Tabib Zadeh Adibi (PTZA)

RISE Research Institutes of Sweden AB
Company reg. no. 556464-6874
pooya.tabib@ri.se

Signed 2024-07-17 10:10:14 CEST (+0200)

Jukka Holappa (JH)

RISE Research Institutes of Sweden AB
Jjukka.holappa@ri.se

+4672-2125065

Signed 2024-07-17 11:39:51 CEST (+0200)

This verification was issued by Scrive. Information in italics has been safely verified by Scrive. For more
information/evidence about this document see the concealed attachments. Use a PDF-reader such as
Adobe Reader that can show concealed attachments to view the attachments. Please observe that if the
document is printed, the integrity of such printed copy cannot be verified as per the below and that a
basic print-out lacks the contents of the concealed attachments. The digital signature (electronic seal)
ensures that the integrity of this document, including the concealed attachments, can be proven
mathematically and independently of Scrive. For your convenience Scrive also provides a service that
enables you to automatically verify the document's integrity at: https://scrive.com/verify

1/1






